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There are in all 30 questions in this question paper. All questions are
compulisory.

Question No.1 to 8 carry one mark each. Question No.9 to 18 carry
two marks each, Question No. 19 to 27 carry three marks each and
Question No. 28 to 30 carry five marks each.

Question No.l1 to 4 are multiple choice questions. Here four options
are given in each question. Write the correct option in your answer
book.

There is no overall choice in question paper, however, an internal choice
has been provided in two questions of 2 marks, three questions of 3
marks and all questions of 5 marks each. You have to attempt'only
one of the given choices in such questions.

Use log tables, if necessary. Use of calculator is not permitted.
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FraAd e ooms s -

In following, the Lyophilic Colloid is -

(i) g iy e (i) T
Milk Gum - - Blood

(iv) 34 & B TRl

None of these

Aeer g wedeor a1 v R et 5 ore o omen -

Gabriel Pthalimide ,Synth}esvi‘s is usgd fpr preparation of -

@ e ) e i) e

1° amine 2° amine . .- 3% amine

HaRades -

Aspirin is an ~

() SN (i) wfeetfas iii) - gfReEy

Antipyretic Antibiotics Antiseptic

K[Co(CO),] & BIaTeT B mm & -
The O)gidation state of Cobalt in }([Cp(CO)J is ~
(i) +1 (i) +3 TG -1
$or 1 ¥ aifivcr @ 2

Why Ether is insoluble in water?

3 Rk o Rt & - RrRednl

Write the name of two fat soluble vitamins.

ot 1 Xrarafee 9 el

Give the chemical name of Teﬂont,” N

mﬁfﬁqmé?mm%ﬁm

What is Formalin? Write its use.

() IR T Pl aar f &9

What is meant by the term coordination number?
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(iv) T TN
All of these
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. None of these
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(@) ﬁw%%ammﬁaﬁmmwﬁé‘r%— ‘ e
(i) UP IT-Blad T ST e :
(i) wuﬁuﬁﬁgz@%ﬁm
What is the coordination number of atoms-
(i) in a body centred cubic structure?
(i) in a cubic close packed structure?

10. FrafaRas St o affexor smafis, aiftes, sofvs, weddss ¥ @fe- 2

Classify each of the following solids as ionic, 'h'iétallic, molecular, covalent solid-
(iy SicC (i) HCI (i) NaCl ~  (iv) Fe

11, a9 U AR AGE TEOD! B TS & U JaTeR0T & a1 uRsnfvra el 2

Define Thermoplastic and Thermosetting polymers with one example each.

12. Fr=faRaa o awsme - N 141=2
Explain the followings ~ - ey
(%) Hererar (@) ow wfd fafera (ppm)
Molality - Parts Per million (ppm)
: s (OR)
FRCH ABTFH 4 g (mugmuom?raaﬁmzoo gmﬁmqmml o= &
RIETerT 31 Bife | 2

4 g of Caustic soda (molar mass 40) is dissolved in water and solution is made
to 200 gm. Calculate the molality of the solution.

13. ﬁm%asﬁqammésﬁm%ﬁam o - 2

State the Faraday's laws of Electrolysis.
yuan (OR) |
ﬂ-gaaﬁasaa(emf)amﬁwamﬁmm%?

What is the difference between electromotive force (emf) and Potential
Difference?

14, 39-TEGAISH At qern e daor & srR we Hifsel 2

Mention the difference between Co-ordination compound and Double Salt.

430 (IZX) | 13] [P.T.O.



15.

16.

17.

18.

19.

20.

21.

RreferRae uRad R T f5d o s & - 1+1=2

How the following conversion can be carried out-

(F) FARIESNT I SLEL.E (W) TEARE=H § eEfbaga
D.D.T. from Chlorobenzene - Diphenyl from Chlorobenzene
a1 81 & 519 - e g o 1+1=2

What happens when -

(P) Eﬁamﬁmmaﬁsqﬁuﬁﬁméaﬂﬁél
Ethyl Alcohol is treated with Iodine in presence of Alkali.

() wﬁﬂmﬁaﬁqﬁmm@%mw%ﬁm%mnﬁm%l

Chloroform is heated wnth a solutlon of Phenol anJéodlum Hydroxide.
SR IEE '

Wmmmﬁwmml v Lo 2

Differentiate between Soap and Synthetic Detergents.

FrefeRaa @1 serag e fomare foRaw - | 2
Write down the electronic configuration of the following - '
(B) Cr3+ (") Fe?t : S

SRR

Wit 7 xramafie siftreior o qerT BTl o 3

Give cdmparison between Physical and Chemical Adsorption.
JAY4AT (OR)
= = ftra fewoh folRae - | 1+1+1=3

Write short notes on the following - TR T :
(®) JCIHRoT (@) 3 (m  eEl-ges tam

Peptisation Dialysis Hardy-Schulze Rule
1 B 3R e Fifswe - 1+1+1=3

Differentiate in followings -
(B) 3D T @S (%) TMeTep TAT TIAeT (1) YITe e HoiA
Ores and Minerals Flux and Slag Smelting and Roasting

() gfoeraTes @ <faeriierss ¥ Fr 3R &7 2
What is the difference between a nucleoside and a nucleotide?

(W) DNA @1 RNA T gof 91 forRae| 1
Write full name of DNA and RNA.

3747 (OR)
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o1 B Bl A PRS- | 12x6=3

Biem-1 BTer™-11

(i) TIPS (1) dieliREs

(i) g (2) ;ﬂé’r:rﬁéﬁasmwm

(i) ® (3) a1 wFRRYr sfieHe

(iv) ﬁa@'ﬁaﬂw (4) AARYRES

(v) TR (5) WHTIRITCTOT

(vi) B.aLa. (6) sEdIRES

Match Column-I to Column-II- | "
Column-I Column-II

(i) Glucose (1) Polysaccharide

(ii) Sucrose (2) Loss of biological activity of Protein

(ii) Starch (3) Energy transfer reagent

(iv) Denaturation . (4) Monosaccharide

(v) Chiorophyl (5) Photosynthesis

(vi) AT.P. (6) Disaccharide

22. T sitiiganst @ mmafe wiexor afea fofEe- 1%2+1V2=3

Write the following reactions with chemical equations -

() Iide-vi afiforan () e Stss sitifean
Carbyl-amine reaction Hoffmann Bromamide reaction

23. WHHUT AT HR-HHHUT deal B ger-l BiioTe| 3

Compare between transition and inner-transition elements.

24. UH MET & 200 cm? el foera= & 1.26 gm MEH &1 300 K R 59 fqaomT o1 IRTERoT
T 2.57x 1073 ARHUSH YT 1| MEH & AIER §AHH &1 IRSE DIt 3
200 cm?3 of an aqueous solution of a protein contains 1.26 gm of the Protein.
The osmotic pressure of such a solution at 300 K is found to be 2:57x1073 atm.
Calculate the molar mass of the protein.

312@T (OR)
() 2 &1 FFrow fafRae) 1

State Henry's law.
(@) F= uel @ uRwifya Sifse - 2
Define the following terms -
(i) O 39 (i) HERar
Mole fraction Molarity
430 (IZX) (5] [P.T.O.



25.

26.

27.

28.

Eetrs aRar & it § = & avere § HiHe TRads aHemge- 3

Explain the trends in property in halogen family as given under-

(i)

AT FHatt (i)  SNENIRUI AR (jii)  FeIaE I T

Ionisation Energy Oxidation States Electron Affinity

Rpva Tar A1 &2 R W o TeEe 6T TR e FRa &2 3

What is Fermentation? How is Ethyl alcohol obtained from molasses?

(B)

(@)

(P)

430 (1ZX)

PR3 & Fraw faRae) 1
State Kohlrausch's law.

=1 R REwott ferfge-

Write short note on following -

() veeT dga smgca (i) gde dga ey

Strong Electrolyte Weak Electrolyte

¥ e st & fore wamsfera o wltaor @ sgeaf BTl 3
Derive the integrated rate equation of Zero Order Reaction.
T st @ g Rigr fRifae] o 2

Write Collision theory of Chemical Reaction.

.
R

31t (OR)
ReR 3a= | N,0,(g) ¥ W BT & aniig fadem w e siies ara ge-
2N,05 (g)———>2N,04(9) + 0,(9)

B 9. |qHA/s oo a§/atm.

1 0 0.5

2 100 0.512

a7 Reriw & TorT HifoTe 3

The following data were obtained during the first order thermal decomposition
of N,O.(g) at constant volume -

2N,05 (g) —>2N,0,4(9) + O,(9)

S.No. Time/s Total Pressure/atm.
1 0 0.5

2 100 0.512

Caiculate the rate constant.

(6]
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g S s e PR & sfefe 3 Qs%arﬁxﬁa'mqo‘imﬁmm 90%
gof 89 & & T &1 g e 2 ‘ ; 2

"Prove that the time required for 99%.completion of a first order reaction is

twice the required time for the completion of 90% reaction.

oirer e Rt g1 wewRe st & S Pafor a1 afm ol B 3

Describe with labelled diagram the Lead Chamber process for the manufacture

of Sulphuric Acid.

srnTeTTeT ¥ 3N S o fftr iy aofa Sl . 2

Describe with diagram the Laboratory method for the preparation of Ozone.
A 3Rt (OR)

Mﬁmmaﬁmﬁamﬁﬁwmé?wﬁawml 3

How is ammoma manufactured |ndustr|al|y7 Descrlbe with diagram. |

WD & &Y ey 3t & AR T GA A 2

Give the name and formula of two OX0aCIdS of Phosphorous

v e difies ‘A" (B0 €, H,0) 3t Yo ciemor & & &, st B W
aifts '8! (C,H,0) &raT &1 'B' HBr } 3ffHar =& FwEs 'C aEr & S
tﬁﬁﬁr%asxormarﬁqqmﬁsﬂmﬁrwm%ﬂ 'D' (C,H,) ST &1 A, B, C, D&
TEa™ dife| | 3
An organic compound 'A' (molecular formula C,H,0) which does not give
Tollen Test, on reduction gives compound 'B' (C,H,0). Compound 'B' on
treatment with HBr gives Bromide 'C' which on treatment with alcoholic
KOH gives Alkene 'D' (C,H,). Identify compounds A, B, C,D.

fr1 diftret & o g @ e (uPAC) Fm-ugf # T forfan- 14+1=2

Name the following compounds according to IUPAC System of Nomenclature:
(i) CH,CH(CH,)CH,CH,CHO
(i) CH,CH(CH,)CH,C(CH,),COCH,

AT (OR)
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(@) a1 Bl & Siafed diewrom vFve &) s STRIfde o=y &7 1

What happens when Calcium Ethanoate is distilled?

(@) woasd fos qai Rifeearss vedler o dan &, wilfsemss =i 1
Explain, why Acetaldehyde gives Aldol Condensation while Formaldehyde
does not.

(m frafeiea sfuftsansit @) qof Hifswe - 3

Complete the following reactions -

) HyCH; KMnO,
. KOH, A
" COOH  goq, |
(i) > mmmmmemeee- ,
COOH A

(iii) ROt .

% % %k X% %k
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